

Florida Department of Transportation

Vendor Ranking

Page 1 of 1

Letting: 08250513 May 13, 2025 02:30 PM

Call Order: 010 Contract: E8W17-R0

District: Turnpike

Counties: BROWARD, MIAMI-DADE, Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

PALM BEACH, TURNPIKE Project(s): 19077445245 (*)

Contract Desc: Clearing and Grubbing - Zone 1

Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
PROLIFIC CONSTRUCTION GROUP, IN	Responsive	Winning bid	\$88,554.32	100.00% Int
AGRICULTURAL LAND SERVICES, INC.	Responsive	Non-Winning Bid	\$88,974.34	100.47%
ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$118,495.95	133.81%
T.T.C. ENVIRONMENTAL, INC.	Responsive	Non-Winning Bid	\$143,122.00	161.62%
NATIONAL TRAFFIC SOLUTION, INC	Responsive	Non-Winning Bid	\$149,233.05	168.52%
MIDWESTERN CONSTRUCTION, INC	Responsive	Non-Winning Bid	\$248,457.00	280.57%
IMR CONSTRUCTION, INC	Non Responsive	Non-Winning Bid		
HIGHER GROUND LAND SERVICES, LL	Non Responsive	Non-Winning Bid		
	PROLIFIC CONSTRUCTION GROUP, IN AGRICULTURAL LAND SERVICES, INC. ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC T.T.C. ENVIRONMENTAL, INC. NATIONAL TRAFFIC SOLUTION, INC MIDWESTERN CONSTRUCTION, INC IMR CONSTRUCTION, INC	PROLIFIC CONSTRUCTION GROUP, IN AGRICULTURAL LAND SERVICES, INC. ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC T.T.C. ENVIRONMENTAL, INC. NATIONAL TRAFFIC SOLUTION, INC MIDWESTERN CONSTRUCTION, INC IMR CONSTRUCTION, INC Non Responsive HIGHER GROUND LAND SERVICES, LL NON	PROLIFIC CONSTRUCTION GROUP, IN AGRICULTURAL LAND SERVICES, INC. Responsive Non-Winning Bid ROGAR MANAGEMENT & CONSULTING OF Responsive Non-Winning Bid T.T.C. ENVIRONMENTAL, INC. Responsive Non-Winning Bid NATIONAL TRAFFIC SOLUTION, INC Responsive Non-Winning Bid MIDWESTERN CONSTRUCTION, INC Responsive Non-Winning Bid IMR CONSTRUCTION, INC Non Non-Winning Bid HIGHER GROUND LAND SERVICES, LL Non Non-Winning Bid	PROLIFIC CONSTRUCTION GROUP, IN Responsive Winning bid \$88,554.32 AGRICULTURAL LAND SERVICES, INC. Responsive Non-Winning Bid \$88,974.34 ROGAR MANAGEMENT & CONSULTING OF Responsive Non-Winning Bid \$118,495.95 FLORIDA LLC T.T.C. ENVIRONMENTAL, INC. Responsive Non-Winning Bid \$143,122.00 NATIONAL TRAFFIC SOLUTION, INC Responsive Non-Winning Bid \$149,233.05 MIDWESTERN CONSTRUCTION, INC Responsive Non-Winning Bid \$248,457.00 IMR CONSTRUCTION, INC Non Non-Winning Bid Responsive Non-Winning Bid \$248,457.00

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

POSTING DATE AND TIME: JULY 22, 2025 AT 4:00 PM



Florida Department of Transportation

Tabulation of Bids

Page 1 of 3

Letting: 08250513 May 13, 2025 **Call Order:** 010 **Contract:** E8W17-R0

District: Turnpike Counties: BROWARD, MIAMI- Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

DADE, PALM BEACH, Project(s): 19077445245 (*)

Contract Descr: Clearing and Grubbing - Zone 1

TURNPIKE

The work specified in this contract consists of providing all labor, materials, equipment, and incidentals to perform clearing and grubbing, shoulder rework, and sodding at various locations along the Homestead Extension of Florida's Turnpike (HEFT), from Milepost (MP) 0.0 to 47.9, Florida's Turnpike (SR 91), MP 0.0X to 100.0, and the Sawgrass Expressway (SR 869), MP 0.0 to 21.8.

NO PRE-BID CONFERENCE WILL BE HELD FOR THIS CONTRACT

Line No / Item ID Alterr Item Description	ate Quantity Units	(1) PROLIFIC CO		(2) AGRICULT SERVICE		CONSULTING	ANAGEMENT & OF FLORIDA
() indicates item is bid as Lump Su		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	LC Ext Amount
SECTION: 0001 (REPAIRING NON-PAVED SHLDRS (MANUAL) (SY							
0005 0145 1 GEOSYNTHETIC REINFORCED SLOPE	32,712.000 SOIL SF	1.51000	49,395.12	0.42000	13,739.04	1.00000	32,712.00
0010 E110 2 CLEARING & GRUBBING	2.100 AC	1,475.00000	3,097.50	9,800.00000	20,580.00	8,861.00000	18,608.10
0015 E575 1 SODDING	9,412.000 SY	1.97000	18,541.64	5.70000	53,648.40	5.80000	54,589.60
0020 E577 70 SHOULDER REWORK	10,069.000 SY	1.74000	17,520.06	0.10000	1,006.90	1.25000	12,586.25
0001 REPAIRING NON-PAVED SHLDRS (MANUAL) (SY)			\$88,554.32		\$88,974.34		\$118,495.95

Contract Grand Totals:	\$88,554.32	\$88,974.34	118,495.95



Contract Grand Totals:

Florida Department of Transportation

Tabulation of Bids

Page 2 of 3

248,457.00

08250513 Contract: E8W17-R0 Letting: Call Order: 010 May 13, 2025 (4) T.T.C. ENVIRONMENTAL, Line No / Item ID **Alternate** (5) NATIONAL TRAFFIC (6) MIDWESTERN Quantity CONSTRUCTION, INC INC. **SOLUTION, INC Item Description** Units () indicates item is bid as Lump Sum **Unit Price Unit Price Unit Price Ext Amount Ext Amount Ext Amount** SECTION: 0001 (REPAIRING NON-PAVED SHLDRS (MANUAL) (SY 0005 0145 1 32,712.000 2.00000 65,424.00 93,229.20 5.00000 2.85000 163,560.00 GEOSYNTHETIC REINFORCED SOIL SF SLOPE E110 2 0010 2.100 5,000.00000 10,500.00 1,950.00000 4,095.00 6,500.00000 13,650.00 **CLEARING & GRUBBING** AC 0015 E575 1 9,412.000 5.00000 47,060.00 3.75000 35,295.00 6.50000 61,178.00 SODDING SY 0020 E577 70 10,069.000 2.00000 20,138.00 1.65000 16,613.85 1.00000 10,069.00 SHOULDER REWORK SY 0001 REPAIRING NON-PAVED Section Totals: \$143,122.00 \$149,233.05 \$248,457.00 SHLDRS (MANUAL) (SY)

\$143,122.00

\$149,233.05



Florida Department of Transportation

Tabulation of Bids

Page 3 of 3

Letting: 08250513 May 13, 2025 **Call Order:** 010 **Contract:** E8W17-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.